



$$\frac{\sin A = 2 \sin \frac{A}{2} \cos \frac{A}{2} }{2}$$
This is the half angle for sin. It can be derived from the double angle by swapping A for ¹/_A A

$$\cos A = \cos^2 \frac{A}{2} - \sin^2 \frac{A}{2}$$

$$\cos A = 1 - 2 \sin^2 \frac{A}{2}$$
That angle identity for cos. The same applies for tan(x)

$$\tan A = \frac{2 \tan \frac{A}{2}}{1 - \tan^2 \frac{A}{2}}$$
Remember If *y* our are solving equations with ¹/_A xo ²/_A

$$\sin P + \sin Q = 2 \sin \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\sin P - \sin Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\sin P - \sin Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \cos \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$\cos P - \cos Q = 2 \sin \left(\frac{P + Q}{2}\right) \cos \left(\frac{P - Q}{2}\right)$$

$$The same rules apply for positive and negative values: All values are positive in the 324
$$\cos(2x) \text{ and exect/2, are positive in the 324
$$\sin(x) \text{ and coc(x) are positive in the 324
$$\frac{\pi}{2} + \frac{\pi}{2} + \frac{\pi}{2}$$$$$$$$

tan(x)

0

 $\sqrt{3}$

1

 $\sqrt{3}$

 ∞^+

0, 2π 0° (1, 0)